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78 |BH tE 3 | XKiEd 0.875 78 0.875
79 |fFE BE 3 |EmM 0.750 79 0.000 | 24 | 075
80 [K#t KB 3 | XKiEd 0.750 79 0.750
81 | Rk HE 3 | XKiEd 0.750 79 0.000| 24 | 075
82 |&H AR 3 | XKiEd 0.750 79 0.000| 24 | 075
83 |RA E3 3 | KER 0.750 79 0.750
84 | K& —1t 3 |BBIRTE 0.750 79 0.750
85 | KB ZHE 3 |fn#k 0.750 79 0.750
86 (At Eifg 3 [nn#R 0.750 79 0.750
87 Bl B# 3 |fn#k 0.750 79 0.000 | 24 | 075
EEEES 3 |IxE 0.750 79 0.750
89 [FHT #A 3 |IFE 0.750 79 0.750
90 |HE A%k 3 |BET 0.750 79 0.750
o1 |G RE 2 |EmB 0.750 79 0.750
2 |ETHLF 2 |KiEd 0.750 79 0.000 | 24 | 075
93 [[KZHFIT 2 (R 0.750 79 0.750
94 | #5 1 | KiEd 0.750 79 0.000| 24 | 075
95 [fR:B #5MA 3 |BHBR 0.250 95 0.250
96 [f£18 B 3 [msE 0.250 95 0.250
97 |FIEBHARE 3 |BBESE 0.250 95 0.250




